Step 1: No simple blocks.

Step 2: Reverse cycle (trivial).

Step 6: Path goes S.
Step 4: Simple blocks:

5| 9| 14|16 5|1 9|15]16 5|10| 15| 16

4| 8]13|15| Steps 4| 8[13]14| steps 4| of13]14| sSteps

2 611112 reverse 2 611112 reverse 2 6l11l 12 reverse
cycle cycle cycle

1| 3| 7|10 1| 3| 7|10 1| 3| 7| 8

Step 6: Path goes S.
Step 4: No simple blocks.

Step 3: Path goes W. {10,9,8}

Step 4: Simple blocks:

{15,14}, {13}, {12}, {11}

5110] 15} 16 6]10] 15|16 6]10] 15|16
4 13| 14 Step 5 51 9113|114 Step 5 51 9113|114
2| 6| 11| 12| reverse 2| 7| 11| 12| reverse 3| 7] 11]12

cycle cycle

1] 3] 7| 8 1] 3] 4] 8 1] 2| 4] 8
Step 6: Path goes W. Step 6: Path goes W. Stop.

Step 4: Simple blocks:

{7,6,5,4}

Step 4: Simple blocks:
{3,2}



